39/4

W-2 km 0+286.90
X = 5806836.8738
Y = 4515578.4761

W-3 km 0+388.68

X = 5806849.3139

Y = £515679.5040

R = 1600.0

L =8832

Kat zwrotu frasy= 3.51418gr
Styczna = 4417

Sieczna = 0.61
R =1200.0
L =5579
Kat zwrotu trasy= 2.95969gr -
Styczna = 27.90 . -
Sieczna = 0.32 ] %
=
Q
=) + <
o <C
o = 9 |2 =
=9 2 =
= = |
W1 km 0+055.45 S T ,, , W 125/3
X = 5806797.7780 7
¥ = 45153493603 g M e TETR] aas !
_.xlnNMHWW m 0+2907 KPED 03.90 {2263
2669 pED 0390 g __co .
Kat zwrotu frasy= 41.72689gr o;MN.g g 56 el | vﬁmﬂwwwm 122.63
Styczna = 13.60 , ﬂma 1390 , km 0+3727 ﬂﬁ%a 2390 \ ;
Sieczna = 2.25 53 Siee) (o ?w_wﬂ_ KPED 03905 ;
,M“mas.,a - ,%ma._ - m __ ! __ 123,73 HESNTIS 7 )
\ ™ 1 . [hemnas B
m%ﬁ chtonng __ \ | 123 S.. 1258 o =T ﬂ 3 7
.34 L EEEEEE - -~ — | & = 123,30
- ) L e et 435 iz 125/6
e BRI T il m
T N —— i \ 12338
; i g - . ] ¥ e e ?ﬁrw i [\ KPED 03.90 o it
) m—s 59 124221 9 4 B
: : i 193,74 1245 VL i KPED 03 m 0+3811 77 km 04231 ! =
g £ 75 KPED 0390 KPED 03.90 g g
2L T
& [ B h124.26 126 /1
S R
S B — g L
&
126/2
124.7 () m @“
X
1244 nww\v».
. o ¥ABE7124 Vel Y0 o B
) 923 > ~5 N B /o4 d/0%
123,68 150750 X 12414 7
rw.&mmmw v@%mf - 124,36 63 H
&4
.M@m MMW 12401
725 55 <z,
25 .
12366 o, N
EEENEY
190 | ey
. Suw%w
PK-1km 0+000.00 12360 ’

X=5806757.0646
Y=4515311.7091




